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3eãSK¥, V ´k��îª�m, Rn´IOîª�m.

1. � w1 = (1, 0, 1, 0)t,w2 = (1, 1, 1, 1)t 3 R4 ¥. O� 〈w1,w2〉⊥ ��|ü �
�Ä.

2. � R5¥�f�mW ´XêÝ
�

A =


1 0 1 0 0

1 0 1 0 1

2 0 2 0 1


�àg�5�§|�)�m. O�W⊥��|ü ��Ä.

3. 3 R3 ¥, f�mW = 〈(1, 0, 0)t, (1, 2, 1)t〉. 2� v = (1, 1, 1)t. O� v�W

�ålÚ v�W �Y�(= v�Ù3W þ��ÝK�Y�).

4. � U,W,W1ÚW2´ V �f�m. y²:

(i) XJ U ⊂ W , K U⊥ ⊃ W⊥;

(ii) (W1 +W2)
⊥ = W⊥

1 ∩W⊥
2 ;

(iii) (À�) (W1 ∩W2)
⊥ = W⊥

1 +W⊥
2 .

5. � v1, . . . ,vm ∈ V � vi,vj �Y�Ñ´
π
3
, i, j ∈ {1, 2, . . . ,m}, i 6= j. y²:

v1, . . . ,vm�5Ã'.

6. (ES) � F ´�, Ý
 A ∈ GLn(F ). y²: (At)
−1

= (A−1)
t
. AO/, � A

´(�)é¡�, A−1�´(�)é¡�.
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